2019 U.S. Crop Reports



Snowmass, CO July 23, 2019

California Bean Shippers Association

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT		Supply
Pinto					-
Pink					-
Small Red					-
Small White					-
Navy					-
Great Northern					-
Black					-
Cranberry	226	18.00	4,068	650	4,718
Lt. Red Kidney	190	19.89	3,780	1,050	4,830
Dk. Red Kidney	100	22.00	2,200	2,160	4,360
Large Lima	7,297	23.46	171,187	92,200	263,387
Baby Lima	7,037	24.29	170,961	34,800	205,761
Blackeye	6,197	26.26	162,746	6,128	168,874
Garbanzo	12,109	25.91	313,711	46,541	360,252
Other	4,515	24.37	110,052	5,840	115,892
Est. CWT TOTALS	37,671		938,705	189,369	1,128,074
This report covers est	imates from the State	e of California on	ly.		
Comments (weather,	crop development, e	tc):			
*Production and carry					
No estimates are inc	luded for beans trans	ferred from othe	r states for either cl	eaning	
or redistribution.					
*Carryover includes uns	hipped inventory but fig	ures include weigh	nt sold.		

Idaho Bean Dealers Association

	Acreage	Yield/Acre	Production	Carryover CWT*	Total
Variety:		(clean wt)	CWT	Est as of 7/9/19	Supply
Pinto	15,000	24.00	360,000	20,000	380,000
Pink	7,300	24.00	175,200	8,000	183,200
Small Red	6,000	25.00	150,000	10,000	160,000
Small White	500	24.00	12,000	0	12,000
Navy	1,200	24.00	28,800	0	28,800
Great Northern	4,000	25.00	100,000	0	100,000
Black	5,600	25.00	140,000	0	140,000
Cranberry	1,550	20.00	31,000	0	31,000
Lt. Red Kidney	2,300	25.00	57,500	0	57,500
Dk. Red Kidney	3,700	23.00	85,100	0	85,100
Larg Lim					
Baby Lima					0
Blackeye					
Garbanzo					0
Other	1,250	20.00	25,000		25,000
Yellow	7,000	25.00	175,000		175,000
Est. CWT TOTALS	55,400		1,339,600	38,000	1,202,600
This report covers esti	mates from the Sta	te of Idaho only	/.		
Numbers include bear					
"OTHER" category inclue		n varieties, etc.			
Comments (weather, c					
*Carryover does not in	clude beans growr	n for seed			

Michigan Bean Shippers Association

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT		Supply
Pinto	2,500	18.00	45,000		45,000
Pink					0
Small Red	13,000	18.00	234,000		234,000
Small White					0
Navy	58,000	18.00	1,044,000		1,044,000
Great Northern					0
Black	118,500	18.00	2,133,000		2,133,000
Cranberry	3,500	16.00	56,000		56,000
Lt. Red Kidney	6,500	17.00	110,500		110,500
Dk. Red Kidney	3,000	15.00	45,000		45,000
Large Lima					0
Baby Lima					0
Blackeye					0
Garbanzo					0
Other	1,000	15.00	15,000		15,000
- Adzuki 2000	2,000	15.00	30,000		30,000
- White Kidney	2000	18.00	36,000		36,000
- Myacoba					0
- Otebo					0
Est. CWT TOTALS	210,000		3,748,500	0	3,748,500
This report covers estimates fro	m the State of Michigan o	only.			
Comments (weather, crop deve	lopment, etc):				

North Central Bean Dealers Association

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT		Supply
Pinto	375,000	16.50	6,187,500		6,187,500
Pink	12,000	14.50	174,000		174,000
Small Red	15,000	17.50	262,500		262,500
Small White					
Navy	105,000	17.50	1,837,500		1,837,500
Great Northern	5,000	18.50	92,500		92,500
Black	170,000	15.50	2,635,000		2,635,000
Cranberry					0
Lt. Red Kidney	18,000	26.50	477,000		477,000
Dk. Red Kidney	62,000	21.50	1,333,000		1,333,000
Large Lima					
Baby Lima					
Blackeye					0
Garbanzo					0
Yellow					0
Other	20,000	16.50	330,000		330,000
Est. CWT TOTALS	782,000		13,329,000		13,329,000
This report covers estin	nates from the State	s of Minnesota, N	lorth Dakota, South	Dakota and Wiscor	isin.
Comments (weather, cr	• • •				
Esitmates are for plante	ed acreage and do r	not include losses	s due to drown out,	etc.	
The NCBDA has a man	datory Stocks Repor	t which is manda	ted by the ND PSC.	The reports are for	r Stocks
on hand as of August 3				-	
Because the NCBDA wi					#'s in
this report.		•			

Rocky Mountain Bean Dealers Association

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT	Est at 9/1/2019	Supply
Pinto	127,475		2,741,622	285,663	3,027,285
Pink					
Small Red					
Small White					
Navy	1,315		53,350	1,000	54,350
Great Northern	49,490		1,223,239	60,089	1,283,328
Black	5,353		145,372	24,183	169,555
Cranberry					
Lt. Red Kidney	14,327		353,101	22,000	375,101
Dk. Red Kidney					
Large Lima					
Baby Lima					
Blackeye	13,430		157,420	300	157,720
Garbanzo	22,782		306,185	274,150	580,335
Other - Yellow	3,308		82,700	20,420	103,120
- Other	550		3,850	23,143	26,993
Est. TOTALS	238,030		5,066,839	710,948	5,777,787
This report covers estimate					
ARIZONA, COLORADO, KAN		RASKA, NEW MEX	(ICO,		
SOUTH DAKOTA, TEXAS, U	TAH AND WYOMING				
Comments (weather, crop o	development, etc):				
*Carryover includes unship	ned inventory but figur	res include weigt	nt sold		

Washington

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT	Est as of 9/1/19*	Supply
Pinto	6,865	26.61	182,704	38,605	221,309
Pink	175	25.00	4,375	920	5,295
Small Red	2,696	25.58	68,959	2,060	71,019
Small White	880	26.17	23,030	-	23,030
Navy	612	26.96	16,500	4,146	20,646
Great Northern	674	24.14	16,270	1,135	17,405
Black	5,037	25.98	130,868	22,137	153,005
Cranberry	1,338	25.57	34,218	220	34,438
Lt. Red Kidney	1,683	24.28	40,867	30	40,897
Dk. Red Kidney	994	26.21	26,050	5,680	31,730
Large Lima					
Baby Lima	625	25.00	15,625	-	15,625
Blackeye					
Garbanzo				9,850	9,850
Other	1,593	25.16	40,081	8,859	48,940
Est. CWT TOTALS	23,172		599,547	93,642	693,189
This report covers es	timates from the S	State of Washir	ngton only.		
*Carryover includes	sold but unshinned	d inventory			

All States

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	СМТ		Supply
Pinto	526,840		9,516,826	344,268	9,861,094
Pink	19,475		353,575	8,920	362,495
Small Red	36,696		715,459	12,060	727,519
Small White	1,380		35,030	-	35,030
Navy	166,127		2,980,150	5,146	2,985,296
Great Northern	59,164		1,432,009	61,224	1,493,233
Black	304,490		5,184,240	46,320	5,230,560
Cranberry	6,614		125,286	870	126,156
Lt. Red Kidney	43,000		1,042,748	23,080	1,065,828
Dk. Red Kidney	69,794		1,491,350	7,840	1,499,190
Large Lima	7,297		171,187	92,200	263,387
Baby Lima	7,662		186,586	34,800	221,386
Blackeye	19,627		320,166	6,428	326,594
Garbanzo	34,891		619,896	330,541	950,437
Other	43,216		847,683	58,262	905,945
Est. TOTALS	1,346,273		25,022,191	1,031,959	26,054,150